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1. 9Rd % JoH Je Fate oy (M3.W.) I
g?

(a) 3T T T (b) Gt 3RS
(c) guy Rig (d) ¥Tea I
FR—(b)

oA ¥ WRA $ g Fatas amges (239) et SRSt
%, Rt Bridrer 2 fRdar, 2018 9 3rdeay, 2021 06
Bl % gd ‘oW warel J1aq’ g fafe smyes Al

R A4 3TMG<h B! Fgfeh AR Bl IS bRl g
14 ®Ra¥1, 2019 3 G <1 @1 Fatas g Fgeh

o

2. fa=fafa Qe 3 3 SO wgR & 999 dife

SIgt P Fen smAfor fan <man RI

(a) SIAYY (b) IRV

(c) HruTel (d) RIS
IIR—(d)

P U P ITASH IR TS b TIFRTS forel # o
ST B WA €9 & AR, Ig MR A 7R S
qren favg & g9 d<1 uifiie A B wudE § 6
IR, 2018 H TATRIETG BT A IEABY * TATRTSA '
31 T B

$ BT AT IR | TIFRTS & Afafes gReER,
TRA® a oo | At fsar S R

3. WRd A IR.ALAE. F ITHE TaER DH E?
(a) 9141 9= ORENENSE]
(c) TIRpaHId = (d) SR v
FAR—(c)

TR & IH MR 1.31ME. TTaR 2IRpaia g/’ (259)
Bl g8 fadiar, 2018 7 qd Ta+k IRIT get o v
T2V fanl IgR™ 7o 7R 4l o7, F 239 ud Sfia
e 247 AR Al

4. 2018¥, AL Wem ¥ fiva a=Re § Wefe

.......... U 9% Siddx Uh Rars a1l
(a) A (b) woi
(OEICEL (d) g9ai

THY. FRIDH F FdaR, 2018 # 718 facel & He oTera
SeR wfegw # uiRen favg A=l § 48 fbm. W
g T B BT INEICST DY FIBR 3T HRAX Bl
Bol WUl UgHh gIRIe a1l 9 Tgel AbH = a9
2002, 2005, 2006, 2008 @ 2010 H 07 TGS ST 21l

5.  WIRd % IIHM MU DI § 2

(a) wfcrHr Trfes (b) 31fA< @
(c) XTI PifdE (d) TIoTg it
FAX—(¢)

YT b qaA Ieeafe M1 difdg’ 8, A IRd &
Aegd vreufa §, R 25 e, 2017 @ 39+ ug
AR 721 Tl

6. 3d, 2018 ¥ F=fefema # A B9 yRaE ToMike

A B Y B2

(a) SfaxT e (b) TToMg iEht

OEESREENEIN T (d) Srgatferar
FAX—(c)

16 37, 2018 B gd He=E s1ee fIgR arsit i
I gl T Sladiel § SoM al 9% HIRd & JeTaa!
& w0 A B fora1 oTifad 89 6 1 € A U B
ft 9| g% uRig FI HIg ‘A SFITaT Hiaamn” B

7. a4 2018 ¥ SSM fRwe & A & faw IRCTC
g fAeforfa § ) S9-ar Aersd WU o faa

T

(a) IRCTC &R (b) IRCTC e

(¢) IRCTC e&e (d) IRCTC walT$
TR—(a)
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ST Ved B R U8 TRA BUReH (IRCTC) 1 'IRCTC
Air' TH® TP UgIe HidTgd WU o fhar 7, 5 wH
HHdl IR MR 9 facer # amEn & forg gars feawe @t
71 BT Her T B

8. f=foRm & ¥ o r &1 Jcad vemm 3?2

(a) TR (b) s
(c) Remg« (d) AT
FAX—(¢)

R Aead verar duel Rardd Bl ga@! snfaRe
M Rarw 5 svpram ffics’ 31 sae g
T 4a$ (FERTE) # B R 7 10 wRas), 2017 9 10
IRTS Jord B NHST UR FR foral SAffea & 915 A €

39 ufal fiee Sira 1000 I1E® 319+ Aedd | SIs|

9. diciigs fvew =@ T e F=fafea 3 A &
el A A 32

(a) Sfebl (OEZE
(c) Me® (d) =
FIR—(a)

g 2007 # s dfeige fhert b < e’ 51 ¥y g
Bl IT el 'R WM’ TP Th Bid Raors! w®
Ffea 3, oraar yfye ogew @@’ 3 f[9E Rl

10. ffafa 3 | P91 9HaR g3 9 a1 g7

() faeeh (b) gt
(c)dr= (d) %S
IR—(d)

¥ VT Telg 9MaR 8, Fores g6 &4 ot g B
fafr=T el & Vst | 5 3N AR g -
B Bl S F W B B a¥g fAepa A T B
TERER B B

AT A1 Rie! S 2 sTacaR B iRl S & w9 H
AT ST 21 g2l 319 g} el & srfgan’ &
it g

12. W @ yga Hifoml

(a) Pl BT O
(c) RIS H T
IR—(d)

ozt A <l 18 well A 1 el @t <R R

13. 2018 % -0 €W 7 g qud. T20 i on?
(a) TSR Iged
(b) FRTEOR RaRTETS
(c) T=TE YR b
(d) BITHIT TTSE TS
FAR—(¢)

(b) TS BT T

(d) 578 9§ BIS T

s, dr.gat. 2018 (11t THI0T) S WIgel § AT Ju=
g, AeRTeoN gexTare @ 8 fade | gv1 o favar
TN I8 Vg e RefSTH | Wt 1 o1l 379 96 3

IR =18 JGur & faorar a1 gat
14. aHgd SR dew & el § & fow wgr A
Rera ®?
(a) TS (b) AgT
(c) 3R (d) 3refiiTe
SIR—(¢)

ASTHES SR URY & AR we} H Red ua faga

11.  wgren st &1 g1 A R g ?
(a) AIETeTTel HRATE e
(b) AIETETH BRI TR
ONEESEGECRIC)
(d) FETeTH HRARTE e
FAX—(c¢)

HETHT T &1 GRT M * AIgAa HRAAG MR’ o, <t
AR Y=l e S U T TSfiieid U Seaicnd

ERIER B ST 107 e HHTC wTESTat A o et
qAdTS Agd @ Wfa § FRarar o1 $9H 99 arel
BRI P M " SKIE A RN 21l

15. 9% &3 ¥ “wa.dlend.” &1 9R1 S 791 2
(a) AfSafea) ¥ 3ifts i
(b) ®e ¥4 3ifw e
(c) difers <1 3ifp gfean
(d) R I oife e
FR—(d)
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T & # adl o B ) WU We 9% 3ifh
RT3l e §F it S ' giRad 98" & ISR
wY B TR AU H GIH QI 9T FIA IT A
TR ¥ &, Rrad qeearea 498’ 7 B

16. WIRA & Ugol TUEA D A?

(a) NToig TG (b) SRR 186
(c) STa=T TiEf (d) gumy ¥g a4
FIR—(b)

HRA & Ugel UIFHA! STl A% Al gAHT ST
14 TdaR, 1889 I SATRIETE H gaTl o1l == a¥ 19554
HRA XA GG A Tl el uiig gRdael §
anfe enfia 2

17. I TEQ B 951 LTE. .ooeeenn B
(a) ¥ (OIEN
(c)oTar (d) @1

JIR—(b)

JTAEY. B ST U9, SfeR Bl Ud Sfer § A1 de
21 8l 39 ($) A Ul R S 21 I8 fava 9 ugw

SINBEECIR

18. UdST TSI DA Wl W W §?

(a) fbe (b) gt
(o) faferas (d) Fremersh
FAX—(¢)

T, Sl xR R fferasd & faeq favwar €1 e A
gl WRIeR faforasy fawa Raara o 2009 3 Sifar vd a¥

20. TS o9 99 H, BRA<I A .............. BN §

(a)30 fa= (b) 28 &=
(c)29 fa= (d)31 A
FAX—(c¢)

TS o9 a9 ¥, HRas) 718 7 29 faF g1 8, T2 U iy
9 # 3 &1 Fem 366 B B ol a¥ F1d R & forg
ay BT 49 9N < 2, IS AT I U g3, a1 I8
9 g o gl

O - ¥=55 (e = 0 37T I)

39 USHR 9¥ 2020 N9 99" Bl
21. fF=faRea § A -1 TF Feilg w32

(a) R (b) Foeht
(OEEN (d) f&vur
SR—(b)

Tl T STetrg aroft B, S HiS o & Fidl iR s
o ggarad JA1 H U8 Skl 1 A U TABS | e
oH B, 9afd deR, fRRUT UeteR vd ARAT Uh A9ER
oroft R

22. ¥R fhed ‘Ties’ (2018) 4, U9 IR Y T

e fA=fofea 3 9 e s e

(a) MR @M (b) faat Brerat

(c) Targel Raerent (d) 79 QA IS T
JIR—(d)

AR fhed ‘s’ H ' qUF 91" &1 931 A1 ' 31er
AR’ 7 furg ofll a8 e S @ @ W&fa R
Torrep Fcer a1 I g1 feban 1 71 o1 Sugeh
H 9 fawen (d) ¥ SR R

2006 ¥ S1eT ¥ gU UM el # wavf uga Siidrl 9,
2018 ¥ I=iM 214i faeq Raarg <l
19. ¥Ra ¥ {4 woa § gear & afoen (FfE) Rera g2

(a) TSR (b) ToRTd
(c) 7= IR RIESRES
FIR—(b)

23. favgeom AT U6 IRAN ............... ®
(a) TSI =T
OEEIESEIREG)
() R Rl
(d) Brpex
SaR—(¢)

THAl Bl U (¥ 3ifh Ji1el) IRd & 02U S0-
T ' IRGR TeaqHTg Iea’ ® FAfid Ud SRS
B, Sl MR 3159 “ToRTa’ # Rerd Bl g9 3Hars 182
Hlex Bl 9 fava & wexy & ufwn B

faeaem 3T T IR AN Raers! €, 9 a9
1992  I7ofla e Vel I YREDR ' A TG T2
2 Al I 99 2007 7 w31 T3qmor & wenfra fn
Rpil

3) T 7u ()



24, ... UTA DY TSR R

(a) forg (b) TIfSHferT
(c) FTeHg, (d) arERT
FAX—(¢)

ForTas! TSt BreHTs! Bl 3 &5 & SO) H A @
AT & T fvg b1 Hated RRER AR (TaRw)
raferd R

25. TR ARHAsd A 9O 991 T8 Fefafa 3 a9-

wR?

ORIE (b) e

(c) gt (d) g
IIR—(d)

Fewafd I8 ARASd H Rod e dS1 I8 2 vd g 9
& FHH W UrEd W TR RS SO g R Th
TP I | 10 TeT (Fa) HH) 3R g a1 aRepa
FRAH 1299 O Bl 39S SUUR] A TS e
ESUSAERE]

26. Choose the correct word to complete the simile :

As as a tortoise.

(a) slow (b) fast

(c) brave (d) blind
TR—(a)

R<h % W Adjective 'slow' (3=, Srefl, g,
HeR, Fe MY aret) & T S Bl 59 arag | ST
JSAPR (simile) &1 TAWT ganm &, Fora# faweft =l an
G B FoIAT e 3T AR A1 g A B e Bl 3R
qrFy S0, as, like @I TR Bre Bl 359 phrase &1 BIRE]
B /I GHI[HR (slow) RIa {6 Tt (tortoise)!

27. Choose the meaningful word from the given

jumbled word :
ETTLOB
(a) botlte (b) bottel
(c) betotl (d) bottle
SIR—(d)

&g 777 @1eRY % sreraRerd %9 (jumbled) B @aReA
PR TR 37 31AY0T (meaningful) ¥eg 'Bottle' (S,

fewra, ares, ofrel) a9l

28. Fill in the blank with simple past tense of the

underlined verb :

I always play hockey in the evening. But last

evening I tennis.

(a) played (b) plays

(c) had played (d) was playing
FR—(a)

Rh WIM WR verb 'play' &I Past Tense &1 Verb 'played'
&1 WA ST BT, RS ared ¥ 'last evening' B TN
W Past Tense (¥ddTet) ¥ 'tennis' Vel & G TdHS &1
<l 2l 39 Tense ¥ 914 B4 ¢ & B yasrel & gan
o1, fohq o & ot B a1 3ol vgn & fawa # Afdaa
wU A o N A T B R

29. Change the gender of the underlined noun and

rewrite the sentence :
My brother is unwell.

(a) My niece is unwell.

(b) My aunt is unwell.
(c) My uncle is unwell.
(d) My sister is unwell.

SuR—(d)

Xgifed e Noun 'brother' ®1 folf-4g & FRIAAR
IRafid & & Sia gRIRRIT araa faFea (d) o
afdfa areT "My sister is unwell' ITa 811, RIfdk Noun
'brother' (masculine gender) &1 TR (Feminine gen-

der) 'sister' 81T 3

30. Choose a subject from the given options to

complete the sentence :
a day, keeps the doctor away.

(a) An apple (b) An aquarium
(c) Breakfast (d) Mango
¥R —(a)

h I TR 'An apple' & W31 A 81 "An applea
day, keeps the doctor away" U GfaTd Jfeh/dHerdd
(aphorism) gl This well-known aphorism is based on
a welsh verse from poem brokeshire dating back to

the 1830s: Eat an apple on going to bed and you will

keep the doctor from earning his bread.

31. Choose the correct spelling :

(a) Correction (b) Corection
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(c) Corction
JFIR—(a)

(d) Coerction

o fadet 7 91 fAded (a) 'correction’ (STaT, AME,
WM, gy, Fur) &t ao g R

32. Choose the correct verb :
We _ tothepark on Sundays.
(a) goes (b) is going
(c) go (d) gone
SIR—(¢)

R M W Plural Number &1 Verb 'go' &1 TRINT 3fd
8l Subject-verb Agreement & IR, Subject Plu-
ral Number ¥ 8 T¥ Plural Verb T4 Subject Singular
Number § g9 T Singular Verb &1 TRV BT AT B
f% a1Fa &1 Subject "We' Plural Number H g, S¥ferg
9P A1 Plural Number &) verb 'g0' Bl ERIDESIER]
il

33. Write opposite of the given word :
Weak
(a) Old (b) Strong
(c) Hungry (d) Sick
SR—(b)

W& 'weak' (P, FAGR, G, WKL, 3Th) H
faudianeis v 'strong' (FoTgd, wkhAE, wipemen,
|qd, FYh) gl 31T faelm wreg g potent, stiff, solid.

34. Fillin the blank with the correct pronoun :
Please give that book.
(a)me (b1
(c) you (d) they
TR—(a)

fR<h M 4R Objective Case &1 Personal Pronoun
'me' &1 TAT 3fId Bl Tg 'me’ Th Indirect object Bl
o9 % &% f5a1 (Verb) & @1€ # Indirect object (Tgt
'me') & WA a1 Sian gl aeedrd Direct object (I8t
'book') 3T Bl Direct object foaT # 'what' &7 &
I BT g 92 Indirect object 'whom' SIS

BIa Bl

35. Write the full form of

I'm

(a) L'will (b) I have

(c)Tam
FAX—(c¢)

(d)Ican

&Y o ARIER - I'm &1 9o %9 (full form) 'T am' Bl
g9 Spoken English # UTg: 1&g 31era1 WgrId fohamai
% short forms (Ff& ¥Y - contractions) & TANT
PR T; SN-

I'mhere=1am here.

He' s late = He is late.

'm=am

's=is (tense & JIHAR)

're=are

've = have

's = has (tense & 3TTAR)

'd =would

TM=will

36. Which of the given four options reflects the

correct use of punctuation symbols as per the

established rules of English grammar?

(a) Bhuwan always's enjoyed : sweets, patties,
marshmallows and chocolate cakes.

(b) Bhuwan always enjoyed sweets, patties,
marshmallows and chocolate cakes.

(c) Bhuwan alwasy enjoyed sweets patties
marshmallows and chocolate cakes.

(d) Bhuwan always's enjoyed, sweets, patties
marshmallows and chocolate cakes.

IR—(b)

Punctuation M1 & AR @aRed ax- W) fav™

g (symbols) a1 fddey (b) # afdid arag &~

Bhuwan always enjoyed sweets, patties, marshmal-
lows and chocolate cakes.

37. Complete the analogy :
Dog : Canine: Cat: ?
(a) Ursine (b) Feline
(c) Bovine (d) Neptune
JR—(b)

|G (analogy) 2 & fog 14 W 2res Dog
Adjective ¥ 'canine' (F & FHM, TATTOTRID) BT
B, S UBR 9Te5 'cat' BT Adjective 915 'Feline' (f3eeft
P ) BT 2l 3% 'Ursine' BT He 'bears' I 2l I
'Neptune' (G%97) Th I8 (planet) Bl 25 'cow' BT Ad-
jective 'Bovine' (T, 7% & 1) BT B

37d: 2% I WX ¥eg 'Feline' &1 9T S 2

C))
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38. Which of the following idioms is wrongly quoted?
(a) Every cloud has a silver lining
(b) Blessing in disguise
(c) Burn the midnight oil
(d) Adding injury to insult
FR—(d)

ITh Idioms/Phrases § A Mg SgyYd (Wrongly
quoted) fa®ed (d) # afdfd ¥ 'Adding injury to insult!,
< Idiom 2 'add insult to injury @ I9d & do

or say something that makes a bad situation even

worse, you say add insult to injury when mentioning

an action or fact that makes an unfair or unacceptable
situation even worse, I Tl TR THE frsH1'| A9
Idioms correctly quoted T

39. Choose the correct option :
Itis

(principle/principal) was involved in the donation

(quiet/quite) clear that the

for admission scandal.
(a) quite, principle (b) quite, principal
(c) quiet, principle

FaR—(b)

Reh il W e Adverb 'quite’ (fegar, wder,
quiaan, fdid) Td Noun 'principal’ (Werrard, fiRyer)
Bl TN IRIE B R wiFEl W g el b w9
a1 et 4 S|

(d) quiet, principal

40. Inthe question given below, choose the alternative
which can be substituted for the given words/
sentence.

"'A piece of land surrounded by water on all sides."

(a)Island (b) Shore
(c) Beach (d) None of these
SR—(a)

S (land) &1 98 9T S IRT 3R A STt (water) §RT
ferT i ¢ 'Island' (€14, STONRT, SUEIY) HEger 2l
= faweal &t qreqd HAe: B

Shore - &1 &1 d¢, f&aR1, e, Wgde, Tqs &
[ESIN

Beach - 995 ¢, {qg &l fBRT

41. Choose the correct meaning of the given word :
Numerous

(a) Small in number (b) Great in number

(c) Few
SIR—(b)

31 'Numerous' (3FRMd, figdt, g samaT) @ aad

¥ 'Great in number'.

(d) Little

42. 'Which of the given options is not an opposite for

the word 'Wise'?

(a)Dull (b) Clever
(c) Obtuse (d) Stupid
SIR—(b)

I TSRl @ UK ‘wise' (€, A, g,
33, 7t o qafEar 9res) 'Clever' (IR, g8, FgoT,
TdvT, g, w) Bl 99 ¥reg Dull, Obtuse, Stupid
v 'wise' & fAudared® v B

43. Read the given statement carefully and choose
the correct tense.

""He loved pasta."
(a) Simple Present

(b) Past Progressive

(c) Present Perfect

(d) Simple Past
SIR—(d)

& a1 919 "He loved pasta." Simple past 37 Past
Indefinite Tense (YadTet) § 1 39 Tense | 1A &Il
? &% @ yaarer # ganm e, g wrd & qof @ agof
g & fawg ¥ FifEd wu A oo A 96 42 2 g
1 ff¥aedar & ®RUT & 39 Past Indefinite Tense
FEl I Bl -

He worked hard.

You came here.

44. Which of these words is not an adjective?

(a) Achieve (b) Additional
(c) Massive (d) Active
BIR—(a)

ITYh us fAFedi # o fadwed (a) 'Achieve' (W1
AT, Hurfad &A1) verb (fhan) g, Siafe =g g
A9l 'Additional' (31fR<H, 31fd®, 3rfedmax), Mas-
sive' (WS, AeTHr, feret) vd 'Active' (FBiHM,
i), ufRerfl, s, gitern) Adjectives (faeon) 2
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45. Match the verb with suitable nouns:

1. Write A. Aeroplane
2. Cut B. Pencil

3. Sweep C. Vegetables
4. Read D. Broom

5. Ry E Book

(a) 1-e,2-c, 3-d, 4-b, 5-a
(b) 1-b, 2-a, 3-d, 4-e, 5-c
(c) 1-d, 2-c, 3-b, 4-¢, 5-a
(d) 1-b, 2-c, 3-d, 4-¢, 5-a

SuR—(d)
Verbs @1 Nouns & A1 el AT B & IURIA
e IR B (d) ured BTl
Verbs Nouns
Write Pencil
Cut Vegetables
Sweep Broom
Read Book
Fly Aeroplane
46. Fill in the blank with the plural form of the word
given in bracket :
Ramesh eats two every day. (banana)
(a) banana (b) bananas

(c) bananays

IR—(b)

(d) bananaies

R<p 1 9= Plural Noun 'bananas' & T SR g,
b TqP {cgl Numeral Adjective or Adjective of num-
ber (quantifier expressing number) 'two' &1 TRINT faa1
T g, S 5 Plural Number (agaa) T 2l 'two' Ud
AT Adjective Number (quantifier) g, s @1 daa
countable Noun &1 TI1°T BIdT gl U&Hda & 1 Sin-
gular Countable Noun 3R 9ga= & |1 Plural Count-
able Noun (Igf 'bananas') & T fham Siar B

47. Choose the correct form of noun that suits the
given sentence :
The music building at the school has30
for students to play on.
(a) laboratories (b) men
(c) pianos (d) teeth

FAX—(c)

R<p % 1R Plural Noun 'pianos' (f0=mY) &1 maimT
S 81 99 Plural Nouns &1 91T Igi Sfa €1 @mml

48. Identify the interjection from the following
sentence :
Yippee ! I made this picture all by myself.
(a) made (b) picture
(c) myself (d) Yippee
SIR—(d)

ITYh ara H ¥es 'Yippee' interjection (faera@®
¥) B faqa® oreg (Interjection) I8 ¥Teg &, SN
A 3T A Fdem aTel IR B UHe IRl B

Note - Interjection &I |de aTdd # = faeft oreq

Tl i gl

49. Complete the sentence with appropriate
preposition :
He went the school.
(a)at (b) to
(©)in (d) on
SuR—(b)

Rh Y W= fen & € SR 9Tl Preposition 'to'
(@ MR & T 3fa Bl

50. Choose the correct meaning of the word
"Accuracy"

(a) Falsehood

(b) Inability

(c) State of being correct or precise

(d) Mistake

FAR—(¢)

31 'Accuracy' (FEHT, TN, WRTIA) BT T 3

'State of being correct or precise'.

51. fa=fafa demn 7 sie 8 &1 =g 9 fofg :
784
(a) SET (b) <818
(c) 3PS (d) IR

SAR—(b)

Y TS AT 784 H &7 8 B A A
80=8x10
=8 x 15818
=8 TS
I e IR fawed (b) B

)
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52. faAfafia W& &1 e s B -

56. fAfafa wqg & 3FTal AN SfF | i -

5 {50, 46, 42, 38, .....}
(2)25 (b) 15 (a)42, 46,50 (b)34, 32,30
(©)13R 5 (d) Suh | (c)34,30,26 (d) 37 & IS T
FIR—(c) FN—(¢)
RN 5 Bl YOGS = 1 % 5 Ry g g fFr=foraa €
-, A 5H O 1R 5 grTl 50,46,42,38,,,
3rd: faded (c) Wl STR R I I I I Y
-4 -4 -4 -4 -4 -4
53. %@ Wi - & T \Hg & 3Tl < 37eT AT 34, 30 T 26 R
7
4+§ 57. 3:5% ufavd % wu § e Do
“ % (2)35% (b) 60% |
(@) % (b) < () 8% (d) 379 1 PIs T
IIR—(b)
u 2
(© (d) e
FR—(b) 373

4,7_3247_39
18 8 8

ara: faweq (b) 9al Sax B

54. WA 3| BT, I m=(-1),p=2
PxPxPxPxMxIN=
(a)4 (b) 16
(©)8 (d) 37 & BIg T

IR—(b)

IR m=(-1), p=2

S PP PP M m=2X2x2X2X(=1)x(-1)
=16x1=16

31a: fased (b) wEl SR 2

55. n % fog ga AT -
3n+7=25
(a)12 (b) 18
(©)6 @5
FAX—(¢)

3n+7=25
3n=25-7
3n=18
_18
3
L n=06
3 fadweT (c) |8l IR B

n 6

3 3
g Dl %Qg‘q :(gXlOO)%

= 60%
3ra: faweq (b) 9l STx B

58. fa=fafya § A d=-\1 $oF W B°
(a) AT T - B = fapa qea
(b) fspa 7ea - ANTd Feu = &I
(c) fasa Feu — &1 = ora e
(d) ST A B T

FIR—(a)

faspa 4o = aTa o + oY
1, faha Hed = Td Hed — 81
3ra: fadey (a) ¥ R
59. 6 sfHal o <ard R A Aft 7 AR aRomm
ffafa §-
135, 150, 139, 128, 151, 132
wefdal B Aa Sarg (. F) o | R

(@)132.16 (b)139.16
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